8H 1A BHlF

8H +MEHRBIME Ak AL & F

d— VR LRI DE

8H MR B Bk il & F

d— VR LRV I DES

& Az & 4 OUT | IN |TOTAL| HDCP NET
B B G BE = 37 | 38 | 75 | 10 65
HEMR RS KE BB 45 | 38 | 83 13 70
3 fiL 8 BE 42 | 44 86 13 73
B:G LI BE = 37 | 38 | 75
8H +MEHBIM A& R & K
T — KT ADE
& Az & 4 OUT | IN |TOTAL| HDCP NET
B MH 2 37 | 41 | 78 8 70
HE(B o & 42 | 38 | 80 10 70
3 fir 3 BEA 40 | 40 | 80 9 71
B-G FH S 37 | 41 | 78

T3S A 14 H
& Az & 4 OUT | IN |TOTAL| HDCP NET
B B B = 40 | 46 | 86 19 67
YEE S IINERCSS 45 | 43 88 17 71
3 fir kM D0 | 50 | 48 | 98 | 26 72
B:G FrH R 40 | 46 | 86
8H +WEAGIM Bk Bk & K
T — KT ADE
& Az & 4 OUT | IN |TOTAL| HDCP NET
B B #%EEM 13 49 | 43 | 92 26 66
HEER | BEARBRRR | 47 | 4 | 91 24 67
3 fi Ry 75 Hi 48 | 44 | 92 | 25 67
B-G =R Hety 41 | 46 87
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